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Use case 1. Start Order

JUnit Test Actor User
Case Purpose NS IPNE=2=NES gl gu )
Overview AHEZ|ol dES 27| 3l 7= F RIS
Type evident
Cross Reference System Functions : 1.1, 1.2

Use Case : “Check Card Input”

Pre-Requisites XHEZ1o| 20| 74X RU0{0F BHCt,
MU0l XN RAO{Of DL,

Typical Courses of Events (AU) : Actor User, (S) : System
1.(AUYZIE2| ) 7]0)| FtE S £ QISHEE

2.(S) Window-2(& & MEH ot H)S == oICt

3.(S) “Input choice’= = O {ICF.
Alternative Courses of Events N/A

Exceptional Courses of Events all line-a. (AU) 7tE2|E7|0f| M 7}EE X B
all line-b. (S) 2= &&= SEHetCt
all line-c. (S) Window-24(7tE X7 ¢!
all line-d. (S) Window-1(C{ 7| 2tH)S = = BHCF.




@Test
public void getDrinkList() throws IDException {

) URL obj =
JUnit Test
Case Map<String, Object> params = new HashMap<

params.put("INDEX", INDEX);

StringBuilder postData = new StringBuilder();
for(Map.Entry<String,Object> param : params.entrySet()) {
if(postData.length() != 0) postData.append( );
postData.append(param.getKey());
postData.append('=');
postData.append(param.getValue());
}
byte[] postDataBytes = postData.toString().getBytes( charsstMame

obj = new URL( spec

HttpURLConnection con = (HttpURLConnection)obj.openConnection();
con.setRequestMethod ("POST");

con.setRequestProperty( tent-Length”, String.volveOf(postDataBytes.length));
con.setDoOutput(true);

con.getOutputStream() .write(postDataBytes);

BufferedReader in = new BufferedReader(
new InputStreamReader(con.getInputStream(),
String inputline;
StringBuffer response = new StringBuffer();
while((inputLine = in.readLine()) !'= null){
response.append(inputline);
}

in.close();

String = response.toString();




JUnit Test
Case

Use case
Actor
Purpose
Overview
Type

Cross Reference

Pre-Requisites

Typical Courses of Events

Alternative Courses of Events

Exceptional Courses of Events

2.Input Choice

User
AMEX7) 4 ES HEISICY

AMEA 7 AEeh o M2 7F AR XHEZ|off EXYSH=X

evident

System Functions : 2.1, 2.2, 3.2
Use Case : “Check chosen item Stock”,

Payment”

AHEb7|of M R0| AKX L0foF 3“1
ZH| 7158t 7=} = 85 of QLojof B,

(AU) Actor User, (S) : System

1.(AU) AFEAL7F Window-2(& & Bl 2t H)0f| A 25H= 4E2f H

2.(S) S AHEZ|O| M X L E =t OISHC]
3.(S) X7t EXYSICHH “Payment” 2 'O 7HCt

N/A

3-a. (S) & X{ RHEt7|0f 42 0| EXYSHA| Gf=Ct.
3-b. (S) “Check chosen item Stock”’ 2 2 = 0 ZtC},

all line-a. (AU) 7tE2[EH 7|0 M FtEE H| AL}
all line-b. (S) 2 & XS FZLHetCt,
all line-c. (S) Wlndow-24(9f': K7 QL =)
all line-d. (S) Window-1(CH 7|2} H)= == ICt
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@Test
public void buyDrink() throws IOException {

) URL obj =
JUnit Test
Case Map<String, Object> params = new HashMap<~=();

params.put (" INDE
params.put("D_

StringBuilder postData = new StringBuilder();
for(Map.Entry<String,Object> param : params.entrySet()) {
if(postData.length() !'= 8) postData.append('&');
postData.append(param.getKey());
postData.append('="');
postData.append(param.getValue());
}
byte[] postDataBytes = postData.toString().getBytes( charsethame

obj = new URL( spec

HttpURLConnection con = (HttpURLConnection)obj.openConnection();
con.setRequestMethod("POST");

con.setRequestProperty( tent-Length", String.voluveOf(postDataBytes.leng
con.setDoOutput(true);

con.getOvtputStream() .write(postDataBytes);

BufferedReader in = new BufferedReader(
new InputStreamReader(con.getInputStream(), StandardCharsets.UTF_8));
String inputline;
StringBuffer response = new StringBuffer();
while((inputLine = in.readLine()) != null){
response .append(inputLine);
}

in.close();

String = response.toString();




JUnit Test
Case

Use case
Actor
Purpose
Overview
Type

Cross Reference

Pre-Requisites

Typical Courses of Events

Alternative Courses of Events

Exceptional Courses of Events

3. Check Chosen Item Stock
System

AFB L7 MEHSE ALZ O] R I CHE AFEEY|Of ERSH=K| BHOIBHCL

—

CHE 2= AHEZ|Of ALEXLZE M EdSE 2HZ 0| XH 17t U=X] 20l
evident
System Functions : 2.2, 2.3, 2.4
Use Case : “Answer Stock Info”, “Determine location”
X XHEZ|Of & F X 27t EXYSHA| Gi=C
(AU) : Actor User, (AD) : Actor other DVMs
(S) System
1.(S) AD2] location, & & 2| quantity= R**?_F F.
2. (AD) “Angwer Stock Info”° EIOH X, ME XD HEE BH=C},
N/A

2-a. X227t Qict
2-b. Window-23(2 & {1 A7l 3tH)S ==t

all line-a. (AU) 7tE2[EH 7|0 M FtEE H| AL}
all line-b. (S) 2 & XS FZLHetCt,
all line-c. (S) Wlndow-24(9f': K7 QL =)
all line-d. (S) Window-1(CH 7|2} H)= == ICt
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Use case 4. Answer Chosen Item Stock

JUnit Test Actor System
Case Purpose XHEEZ| O] Dot QK| HEE Ua{Z=C},
Overview L2 SFo Mas =0 2 i YE S A7 9K g4 280 A7 |of 2LHZEC
Type hidden
Cross Reference System Functions : //2.2,// 2.3

//Use Case : “Check chosen item Stock”//

Pre-Requisites (AD)2 = £H X1 =2l 20| 0|03t}
Typical Courses of Events (AU) : Actor User, (AD) : Actor other DVM,
(S) : System

1.(S) “Check chosen item Stock
"= a0l 2YE dF2 M2 E =elotnt,
(=13

2.(S) =elet M1 LS Arilof fIX|Y 2Lt 2 (AD)Z Tt

Alternative Courses of Events N/A

Exceptional Courses of Events N/A




@Test

public void getDrinkInfoFromOtherDVM() throws IOException {
URL obj =
JUnit Test , ,
Map<String, Object> params = new HashMap<~>();
Case params.put("INDEX", INDEX);

params.put("D_NAME", D_NAME);

StringBuilder postData = new StringBuilder();
for(Map.Entry<String,Object> param : params.entrySet()) {
if(postData.length() != 0) postData.append('&');

postData.append(param.getKey());
postData.append('=");
postData.append(param.getValue());

}
byte[] postDataBytes = postData.toString().getBytes( charsethams

obj = new URL( spec

HttpURLConnection con = (HttpURLConnection)obj.openConnection();
con.setRequestMethod("POST");

con.setRequestProperty( ‘ent-Length", String.volveOf(postDataBytes.length));
con.setDoOutput(true);

con.getOutputStream() .write(postDataBytes);

BufferedReader in = new BufferedReader (
new InputStreamReader(con.getInputStream(), StandardCharsets.UTF_8));
String inputLine;
StringBuffer response = new StringBuffer();
while((inputLine = in.readLine()) '= null){
response.append(inputline);
}

in.close();

String = response.toString();




JUnit Test
Case

public class DrinkDacoImpl extends JdbcDaoSupport implements DrinkDao{
public List<Map<String, Object>> getDrinkList (int index) {
final String gu f = "select u.5EQ, w.NAME, z.PRICE, z.S5TOCK from drink info as u join drink stoc
retuorn (List<Map<String, Cbkbject>>) getJdbcTemplate () .guery(gquery, new PS5SetDac.PSSForlInt (index),

public int searchDrink(String diame) {

final S5tring gquery = "select SEQ from drink info where REPLACE (MaME, ' ', "'"}=2";

return (Integer) gecJdbcTemplate () .guery (d new PS5SetDac.PS5SForScring (dName), new ResultDac.R

final String gquery
retorn (Integer)

{

final String query = "INSERT INTC drink stock (DVM_SEQ, DRINK SEQ, PRICE, STOCK) VALUES(1, 2, 2, O

retuorn (Integer) getJdbcTemplate () .update (query, new PS55etDac.P55ForDoublelInt (index, dPrice));
public int changeDrinkM(int index, int dPrice, int stock) {

final String guery = "INSERT INTC drink_ stock (DVM_SEQ, DRINK SEQ, PRICE, STOCK) VALUES(1, 2, 2, ?

retuorn (Integer) getJdbcTemplate () .update (query, new PSS5etDac.PS55ForFiwvelnt (index, dPrice, stock,
public int checkDrink(int seq, int lex) {

final String guery = "select STOCK from drink stock where DVM_SEQ=? and DRINK SEQ=?";

retorn (Integer) getJdbcTemplate () .guery (d , hew P55etDaoc.P55ForDouklelInt (index, seg), new ERes

final String guery = "select u.DVM SEQ, u.S5TOCK, ITUDE from drink stock as u jo

retorn (Map<String, Ckhject>) getJdbcTemplate|() .guery(guery, new P5SetDao.P55ForTriplelnt (index, 1
public int buyDrink(int seqg, int index) {

final String guery = "update drink stock set STOCKE=STOCE-1

retuorn (Integer) getJdbcTemplate () .update (gquery, new P55etDac.PS55ForDoublelInt (index,
public boolean checkPreCode (String code, int index){

le as a where a.TAR DVM=? and a.C

final String gu r |
new P55etDac.PS55ForIntString (ind

retorn (Integer) getJdbcTemplate () .update (gque

;g = "select S5EQ from pre

public S5tring getName (int seq
final S5tring qguery t HNAME from dri
retuorn (String) getJddbcTemplate () .guery (qgu

new ResultDao.RSEForSs



JavaScript
Unit Test
Case

Use case
Actor
Purpose
Overview
Type

Cross Reference

Pre-Requisites

Typical Courses of Events

Alternative Courses of Events

Exceptional Courses of Events

1. Start Order

evident

System Functions : 1.1, 1.2
Use Case : “Check Card Input”

A7) o] MO0l AN A0 OF Bt
HR0| 7N RAO{OF oLt

(AU) : Actor User, (S) . System

1.(AU| 7tEE|E7|0f| 7= S & oLt
2.(S) Window-2(& = T SfH)= = = ofLT.
3.(S) “Input choice”2 H0{ ZtCt.

N/A

all line-a. (AU) 7tEE|H 7|0 M FtEE A A SHCE
all line-b. (S) 2 & XS SLHetCt
all line-c. (S) Wlndow-24(9fE XA 2

all line-d. (S) Window-1(C{ 7| 2tH)S = = BHCF.



JavaScript
Unit Test

Case




JavaScript
Unit Test

Case

Use case
Actor
Purpose
Overview

Type

Cross Reference

Pre-Requisites

Typical Courses of Events

Alternative Courses of Events

Exceptional Courses of Events

11. Check Precode

System

evident

System Functions : 3.5, 3.6, 3.7, 3.8
Use Case : “Serve ltem”, “Answer Precode Info”,

” o«

Input Precode”

K712 20l AN RU0{OF BhLf.

(AU) : Actor User, (AD) : Actor other DVMs

(S) : System

1.//(S) “Input Precode”Of| A 213 22 MZAX| I
2.(AD) “Answer Precode Info’E S8l MZ2X 2
3.(8) U ZHM ZETF EX|TtCt
4.(S) ZE ddA| CtLHE DVMO| 21X DVMOILE.
5.(S) “Serve ltem”= Tl &L},

N/A

3-a. (S) MZAX RE7I 2L X|stCt,
3-b. (S) Window-19(& % &l & 3tH)Z == 3ICt.

r

4-a. (S) X DVMIt M ZX|A| RtLYEl DVMO| OFL| T,
4-b. (S) Window-22(E X &l DVM 2tH)S = otrt,

-12-



function checkNextPage() {
let code = document.getElementsByClassName( classMames
let rands = [8, 19, 22];

let randomN = Math.floor( x Math.random()*3);
console.log(randS[randomN]);

‘ switch (randS[randomN]){
JavaScript 8

P el =

dsSe &2

Unit Test let str = i +randS[randomN] +
Case location.href=str;




JavaScript
Unit Test

Case

Use case
Actor
Purpose
Overview
Type

Cross Reference

Pre-Requisites

Typical Courses of Events

Alternative Courses of Events

Exceptional Courses of Events

3. Check Chosen Item Stock

System
ALEX7F M EoE & F 0| X7t CHE AHEH 7| Off EXpl=X| =+QIoHTE
CHE & XHEZ[0f] ALSALZL A EESE &HE 0| 07t U=X] =els

evident

System Functions : 2.2, 2.3, 2.4
Use Case : “Answer Stock Info”, “

Determine location

SiX Ao &F AM7F EXSHA| E=C

(AU) : Actor User, (AD) : Actor other DVMs
(S) System
1.(S) AD2] location, & 2| quantityS R**?J
2. (AD) “Answer Stock Info’S S8l /K|, A

D1t|
=>é —I_
k1
ox
HT
M|
nt
rir
_lTI_

N/A

2-a. X227t Qict
2-b. Window-23(2 & {1 A7l 3tH)S ==t

all line-a. (AU) 7tE2[EH 7|0 M FtEE H| AL}
all line-b. (S) 2 & XS FZLHetCt,
all line-c. (S) Wlndow-24(9f': K7 QL =)
all line-d. (S) Window-1(CH 7|2} H)= == ICt
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JavaScript
Unit Test = document.getElementById( elementic
Case :

Other = JSON.parse(Buy.innerHTHL).R;

location.href = 1 ?L ITUDE LATITUDE TUDE;
}cateh

if (Buy.innerHTML.index0f( searchElement

alert("ITLELICH \n2E




Run
Windows

e Window-2

< C @ localhost:i

PO @ 192168.1.211:8000...

x  +
10 27INDEX=
& U EEt0E - Goo... coding
DVM
dsnolct  BAISE
= 2| 2AH| Ord
A E
I AQE © 70 2|
stero x| EEE
1 2 3

Q
w @ E D
ME 3 A »
27128
2L
H|E|

&

© Window-2

X @ localhost:110

PooE @M 1921681211

Jat




Run
Windows

e Window-8

&« C @ localhost:11080/window8?Dri

HIO® @ 192.1681.211:8000.

HI Z2tal A9 Lt

O[BaliFAA ZAF

e Window-3

&« C @ localhost:11080/window

HI ¥ @ 1921681.211:8000..

ERERS

-

=]

(S0 I L)

8

delete enter

3
6
9




@ Window-3 x + o ~ B X @ Window-1 x +

&« C @ localhost:11080/window3 w

2 E 0 » & : € C @ localhost:11080/window1 ¥

DOy 1921681211 » 7|Er 0= D% @ 192.168.1.211
localhost 11080 Li-&: localhost:11080 LH&:
0] 717/l BT MEF ZEE AMET £ gisLC HEE dvm BIZE 52 LT
=4 =

1 2 3 DvMetT7| | motmcers |

4 5 6

7 8 9 T2 3

0 delete enter 4 > 6
7 8 9
0 delete enter

Run
Windows




Run
Windows

@ Window-12

< C @ localhost11080/window12

HI O @ 1921681.211:8000.

*

+

coding

@ Window-12

& 2> C @ localhost1

HI ¥ @ 1921681.211:8000..

x  + (-]
1080/window13 w @ E B
& Y E20|E - Goo... coding MHE # S| A »

4B :[z225 |

s R

AE 7tE 2000 |

ERIERN




Run
Windows

@ Window-12 x  +
& 2> C @ localhost11080/window13

HEH 192.165.1.211
e localhost: 11080 Li&:

£ 92 SYsUT

ESIERY

=l

It
re

» &

EEE]

@ Window-14 x +

e

B @ 192168.1.211:8000.. & U EE0|E -G

C @ localhost:11080/window14

AT HES JHY TR =

I
fol




e Window-6&

&« C @ localhost:11080/windowé

¥ @ 192.168.1.211:8000...

*

+

& L SE0]E - Goo

C @ localhost:11080/window

@ 192.168.1.211:8000...

RHE7| 2%

ri
I

2/ 2 £ : -de96300

T S

=]

8

6
9

delete enter

Run
Windows




Run
Windows

aAlel 7|t =R

@ Window-7 x + ° =
< C @ localhost:11080/window? w @ E 0O *» &
% @ 1921681.211:8000.. & U E2toE -

@ Window-15 X  + o a x
< C @ localhost11080/wi 15 E D » “."
% @ 192168.1.211:8000.. & U E2t0|E - Goo.. coding e

0 04ES ARSIAIHE LI

ESES




https://youtu.be/SgjkygEiQ-Q



https://youtu.be/SgjkygEiQ-Q
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